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Question Number : 1 Question Id : 5400733801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the primary objective of research methodology?

Options :

1. To collect data randomly.

2. To systematically investigate, analyze, and interpret phenomena.
3. To make assumptions without evidence.

4. To generalize findings without analysis.

Question Number : 1 Question Id : 5400733801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
ST UGl &1 MTUTHe 3e=d o1 82
Options :

1. UefS® ®U Y T Uhd ST

2. g3l Bt AU FU Wi, fIzdwor 3R e &
3. 1&g & o1 YROME M1

4. fawaiyor & fomm st &t I 99

Question Number : 2 Question Id : 5400733802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of social research?
Options :

1. Physical research

2. Chemical research

3. Qualitative research

4. Mathematical research

Question Number : 2 Question Id : 5400733802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

froafifed o § S a1 IHITE ST &1 Th TR 82
Options :

1. Hifde S

2. S I

3. TUMTHD AU

4. TIIOTCT ST

Question Number : 3 Question Id : 5400733803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the basic elements of social research?
Options :

1. Concept, variables, theories, operational definition.
2. Hypothesis, assumptions, conclusions.

3. Observations, opinions, analysis.

4. Data, interpretation, findings.

Question Number : 3 Question Id : 5400733803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TS SHYT & Ha I &1 52
Options :

1. YoheuH, =R, Rigid, ufamer g
2. TR HT, YRUMY, fshY |

3. fewfori, I, fa=eiyon

4. 31, areT, Y |

Question Number : 4 Question Id : 5400733804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which country is known for its significant contributions to social work research?
Options :
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1. India
2. China
3. Russia
4. USA

Question Number : 4 Question Id : 5400733804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

D T G AT BRI S H 30 Tgayul GRTGH 3 1T ST STl 82
Options :

1. HRd

2.9

3,79
4. quu

Question Number : 5 Question Id : 5400733805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the advantage of using case study methods?
Options :

1. Generalizes findings across various cases.

2. Requires less time and resources.

3. Cannot be used for qualitative analysis.

4. Provides in-depth understanding of a particular case.

Question Number : 5 Question Id : 5400733805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HY g AR o1 IuahT B3 BT T HRET 82
Options :

1. faftr aret & e o) I=fipd Ra B

2. B T 3R GA1EA BI STaadhdT gid g

3. TUNTA fa=etoT 3 forg S =16l fora o 9 g1
4. ot fady AT Y 6 AU UG Rl 5

Question Number : 6 Question Id : 5400733806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the subject matter of social survey methods?

Options :

1. Collecting and analyzing data from a sample of individuals or groups to estimate the characteristics of the larger population.
2. Conducting experiments in a laboratory setting.

3. Analyzing historical documents to understand past events.

4. Analyzing textual or visual content to derive meaning.

Question Number : 6 Question Id : 5400733806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o deror fafdra o1 favg w82

Options :

1. ST AT Bt ARt &1 A T & o cafdaal a1 Tgg! & T ¥ ST THH FHRAT 3R YT fARAw0T FHRAT|
2. TRARTRITE T & AR o1 SaTer T |

3. 3l Y THEM & forg YfaeiRies Sxarael & fawels T AT gem,

about:blank 3/42




4/2/24, 2:55 PM about:blank

4. 314 FrpTe & o urey a1 =2 a1l 1 faayor SR

Question Number : 7 Question Id : 5400733807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method involves manipulating variables to observe the effects on participants?
Options :

1. Social Survey Methods

2. Experimental Methods

3. Historical Methods

4. Content Analysis Methods

Question Number : 7 Question Id : 5400733807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o fafey & il R e S & forg =RY 8RR AT 2 &2
Options :

1. greTioreh et faferi

2. UrIe fafea

3. UfdeTies fafdat
4. TR faweryor fafdrt

Question Number : 8 Question Id : 5400733808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What do historical methods primarily focus on?
Options :

1. Predicting future trends.

2. Analyzing current societal structures.

3. Understanding past events and contexts.

4. Experimenting with variables to observe outcomes.

Question Number : 8 Question Id : 5400733808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e faftrl T &0 3§ frg iR e Sfga wrdt g2
Options :

1. YiI™ & ¥l &t Hidsraron &l

2. G AT RT3 T fa=asor =1

3. ot gerait 3fiR el o) T |

4. GROTTHY BT FAR&01 HRA & A TR & A1 TN H=AT

Question Number : 9 Question Id : 5400733809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the primary purpose of content analysis methods?
Options :

1. Analyzing textual or visual content to derive meaning.

2. Conducting experiments to observe outcomes.

3. Surveying individuals to estimate population characteristics.
4. None of these
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Question Number : 9 Question Id : 5400733809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Tt fawcv fafera &1 urufire SExa e
Options :

1. 31 T & e ute a1 exg Irf o1 fazawor s

2. GROMH} &1 FARTE01 B & fore Tl &1 Tame vl

3. ST faRISarstt 7 SIgHM T & 1T il BT HA&T HRAT|
4. P13 gl

Question Number : 10 Question Id : 5400733810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the various forms of data that can be collected?
Options :

1. Textual only

2. Numerical only

3. Textual, numerical, visual

4. Visual only

Question Number : 10 Question Id : 5400733810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST & At U D A ¢ R Tand fasan o 9 52
Options :

1. Had UIed

2. $Id J-HTHD

3. OIS, TS, T

4. HAATH

Question Number : 11 Question Id : 5400733811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method involves systematically observing and recording behaviors or phenomena?
Options :

1. Interview

2. Questionnaire

3. Schedule

4. Observation

Question Number : 11 Question Id : 5400733811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fora fafy & SgagR a1 Ue & afyd ¥ 4 ¢& 1 3R Rebls T =miit 52
Options :

1. HI&Th R

2. GYTaat

3. RIegd
4. JadIHA

Question Number : 12 Question Id : 5400733812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is the purpose of research design?
Options :
1. To generate hypotheses.
2. To outline the overall plan for conducting the study.
3. To analyze data.
4. To interpret findings.

Question Number : 12 Question Id : 5400733812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST SO H1 =T |1 82

Options :

1. IRSHTHT ST HAT

2. AT ST DR P T THY TS BT W TR HAT
3. 31 BT A=AV H=AT|

4. Frepuf o1 SR R

Question Number : 13 Question Id : 5400733813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is a hypothesis?

Options :

1. An opinion.

2. A testable statement predicting the outcome of a study.
3. A random guess.

4. A historical fact.

Question Number : 13 Question Id : 5400733813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T RS 1 72

Options :

1. Uh X[,

2. TP LT & GRUTH ST HiTwaroft B3 a1el e uieor I s,

3. T Jrefasdh AT
4. T Ui au.

Question Number : 14 Question Id : 5400733814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical concept assumes a normal distribution of data?
Options :

1. Parametric

2. Nonparametric

3. Descriptive

4. Inferential

Question Number : 14 Question Id : 5400733814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DI It GifTp 1T GURUN SeT & A fIdRur &1 7 82
Options :

1. IRtfesw
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2. ATRTERReH
3. gUiTES

4. ITAFTHD

Question Number : 15 Question Id : 5400733815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical test is used to compare means between two groups?
Options :

1. Chi-square test

2. ANOVA

3. t-test

4. Correlation

Question Number : 15 Question Id : 5400733815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3 gl & ota Aredl 1 ga HRA & fore for wifegertar usteror &1 IuaT fasa i g2
Options :

1. F-WBTR yieun

2. QAT
3. A-adtem
4. ggqeY

Question Number : 16 Question Id : 5400733816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which statistic is most affected by outliers?
Options :

1. Mean

2. Median

3. Mode

4. Dispersion

Question Number : 16 Question Id : 5400733816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DI T 3BT Iy F T P gHIfad grar 82
Options :

1. |4

2. AfgTH

3. 8

4. feweq

Question Number : 17 Question Id : 5400733817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of tabulation and classification in research?
Options :

1. To generate hypotheses.

2. To conduct experiments.

3. To interpret findings.

4. To organize data systematically for analysis.
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Question Number : 17 Question Id : 5400733817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SHYT T IRUNBRUT 3R TNBROT BT 3539 T 57
Options :

1. IR AT Sad BT

2. JAM ST

3. frep et ot sRe HRAT|

4. Tazawor & foTE SeT &1 HaRYA U T Tafyd HAT

Question Number : 18 Question Id : 5400733818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is an essential component of a standard research report?
Options :

1. References, footnotes, abstract, bibliography

2. Conclusions only

3. Introduction only

4. Data analysis only

Question Number : 18 Question Id : 5400733818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T A 2y RS &1 U 3Tawae geeh 1 82
Options :

1. e, pedle, 9R, Jy &t

2. $aq ey

3. H9d U=y

4. $ad Sl fazeyor

Question Number : 19 Question Id : 5400733819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

What are the different steps involved in report writing?

Options :

1. Only writing.

2. Planning, researching, organizing, writing, revising, editing, presenting.
3. Only researching.

4. Only revising.

Question Number : 19 Question Id : 5400733819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

feure ora & =it faflrs oror o 62

Options :

1. had A |

2. IISTT FT, MY HRAT, TR BT, Forg=1, FRNTAT BT, FTG HAT, U BT
3. Had MY HRAT|

4. ad YRNY BT

Question Number : 20 Question Id : 5400733820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Which statistical method is used to predict the relationship between variables?
Options :

1. Chi-square test

2. ANOVA

3. Correlation

4. Regression

Question Number : 20 Question Id : 5400733820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Wi & o9 Gay BT HiTwrarh B & o forg wifsada usfa &1 IuanT o ST 82
Options :

1. F-TBTR yiemur

2. QAT
3. ggdey
4. gfam =

Question Number : 21 Question Id : 5400733821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the utility of research methods?

Options :

1. To systematically investigate, analyze, and interpret phenomena.
2. To make random assumptions.

3. To prove preconceived notions.

4. To ignore evidence.

Question Number : 21 Question Id : 5400733821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3T fafirat @t Suafiiar 82

Options :

1. FCAIST BT afRUd =Y ¥ offd, fIzeivon SR e 1
2. Urefse YRUMY ST

3. QS eUd YROMSH &I A1ferd ST

4. 99d DI ToRSHETS DA

Question Number : 22 Question Id : 5400733822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of applied research?
Options :

1. Studying the behavior of particles in physics.

2. Exploring mathematical theories.

3. Developing a new drug to treat a disease.

4. Analyzing historical events.

Question Number : 22 Question Id : 5400733822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafafed & ¥ S 1 Srugad STHUH BT ISTeR0T 82

Options :
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1. ¥ifaet § BN & SIagR &1 3reqa|

2. TTfOrr Rygial &t @l |

3. fbdf ST % e & oY U < <t o1 faepr |
4. ¥faeTRies gemsii &1 faaur|

Question Number : 23 Question Id : 5400733823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What are variables in social research?
Options :

1. Fixed constants.

2. Factors that can change or vary.

3. Unchangeable parameters.

4. Qualitative descriptions.

Question Number : 23 Question Id : 5400733823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
IR ST H TR 182

Options :

1. Ffga RRi® |

2. HRS S 9G0 T @ I1 fird & ool &
3. ORI IRTHIER |

4. TUNTASD faaRuT|

Question Number : 24 Question Id : 5400733824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the concept of operational definition?

Options :

1. Defining variables in terms of how they will be measured or manipulated in a study.
2. Defining variables without measurement.

3. Ignoring variables.

4. Randomly assigning meanings to variables.

Question Number : 24 Question Id : 5400733824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

foraTaTe URUTET BT SauRUT &1 52

Options :

1. R B 39 g T uRuIid o1 o 3% 3reqa= § 2 1197 37 gRUR o Sem|
2. 119 & foHT TR &1 R H11

3. IR B A HAT|

4. W B dRaE o F 3 fAfdy |

Question Number : 25 Question Id : 5400733825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the significance of social work research in India?

Options :

1. It addresses social issues and contributes to policy-making and social change.
2. It has no significance.

3. It only focuses on individual cases.
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4. It ignores societal problems.

Question Number : 25 Question Id : 5400733825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
YR & ARG BT ST &1 71 Hed 82
Options :

1. T8 GIHTIoTh e} ! Jaferd dra g 3R Hifa-fmfor ok e uftad= & aivem Sarg|
2. THPT DTS 7 T4 ol

3. 98 had IGavTd AT UR & higd Har gl

4. T8 GTHTIS JHETST Bl ToR SIS BT g |

Question Number : 26 Question Id : 5400733826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the procedure for conducting a social survey?

Options :

1. Randomly guessing outcomes.

2. Ignoring data.

3. Systematic collection and analysis of data from a sample of individuals or groups.
4. Conducting experiments only.

Question Number : 26 Question Id : 5400733826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IS A0 I Bt UfshdT T 52

Options :

1. SRS &7 o GROTHT BT 3HH |

2. ST DT ST BT

3. STl 1 THET P A O ST BT AR GUg 3R fazaw|
4. B YT BT

Question Number : 27 Question Id : 5400733827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method involves studying past events through documents and artifacts?
Options :

1. Social Survey Methods

2. Historical Methods

3. Content Analysis Methods

4. Experimental Methods

Question Number : 27 Question Id : 5400733827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T faftr & ol 3fR Handiadl & Tred I OB gl &7 S HRAT1 2 82
Options :

1. TSI Fdefor faftrat

2. UfcreTRyes fafe

3. gt fageivor fafea

4. T fafer
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Question Number : 28 Question Id : 5400733828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What is the primary advantage of content analysis methods?
Options :
1. It is time-consuming.
2. It cannot analyze textual content.
3. It only focuses on numerical data.
4. It can analyze large volumes of data quickly.

Question Number : 28 Question Id : 5400733828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Irft e faferat o1 urufire ary 82
Options :

1. I8 g O AT B |

2. 8 UTaY 9T &1 faweivor gt ) b |

3. I8 Had GATHS ST WR & Hiad BTl
4. T8 IS AET H 32T &1 i [Nl B3 Tebell 2|

Question Number : 29 Question Id : 5400733829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which source of data collection involves direct observation?
Options :

1. Observation

2. Interview

3. Questionnaire

4. Schedule

Question Number : 29 Question Id : 5400733829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3T U & 5 Fid H U gl QM 82
Options :

RCCRICE]

2. &b R

3. gyt

4. ST

Question Number : 30 Question Id : 5400733830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What are the principles of data collection?
Options :

1. Random guessing.

2. Accuracy, reliability, validity.

3. Biased sampling.

4. Ignoring data.

Question Number : 30 Question Id : 5400733830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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3T I8 & Rgid an ge
Options :
1. grefes e S{THT I
2. I, faaan, Qe

3. T&UTAYUl FATGRUI|
4. ST DI 3FCH HAT

Question Number : 31 Question Id : 5400733831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of sampling in research?

Options :

1. To select a subset of individuals or groups from a larger population.
2. To ignore certain groups.

3. To manipulate variables.

4. To generalize without evidence.

Question Number : 31 Question Id : 5400733831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YT H THATHRU BT IETT T 82
Options :

1. 981 SETE! ¥ faadl a1 Ig! & Th UG HI T4 BT
2. T Tg! B ST B

3. R H gRBR BT

4. ToFTT A o AHTRIAGHROT AT

Question Number : 32 Question Id : 5400733832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which type of research design outlines the steps to be taken in conducting a study?
Options :

1. Exploratory

2. Descriptive

3. Explanatory

4. Experimental

Question Number : 32 Question Id : 5400733832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

g THR &1 2y FSTS foelt 311 & Tare # I3TT A1 a1l HaH! B F UG Fardl 62
Options :

(IRCIBIEED

2. JUHTHAD

3. ARATHD

4. TS

Question Number : 33 Question Id : 5400733833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is a null hypothesis?

Options :

1. A statement that there is a significant difference between specified populations.
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2. A statement that predicts a relationship between variables.
3. A statement that there is no significant difference between specified populations.
4. A statement that is never tested.

Question Number : 33 Question Id : 5400733833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

R TR T ]2

Options :

1. T & 6 Py emardl & g e Heayuf siaR 31

2. T §OM S TR & o1 Th Yot B U= sar g |

3. Uo §aH for Ry simeard) & o s He@yuf SidR &1 81

4. U% 59 S P omard) & o9 #18 Aeayul Siak 781 81 Fit uteror -1et fama o,

Question Number : 34 Question Id : 5400733834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical method is used to test for differences between three or more groups?
Options :

1. ANOVA

2. t-test

3. Chi-square test

4. Regression

Question Number : 34 Question Id : 5400733834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

& a1 31 TET & St SR FT Uheur A & ot for iR ta vl &1 IuainT fora simar 82
Options :

1. ANOVA

2. t-test

3. Chi-square test

4. Regression

Question Number : 35 Question Id : 5400733835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the primary difference between parametric and nonparametric statistics?

Options :

1. Nonparametric statistics make assumptions about the population, while parametric statistics do not.
2. Parametric statistics make assumptions about the population, while nonparametric statistics do not.
3. They are the same.

4. They are not used in social research.

Question Number : 35 Question Id : 5400733835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

R IR RIS ol  dre TTufires ofeR 371 22

Options :

1. IRIRTHIR S SHichs SHEReAT & IR H YR SHI 8, Saf REfee 3iips T e |
2. IR Siiere SHERe & SR & YRUM S &, STafdh IRURTHIfC® Sfidre THT 8! HRd |
3.39ME.

4. QTR ST T 37eT JUTNT g} foban Sira B |
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Question Number : 36 Question Id : 5400733836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the most commonly used measure of central tendency?
Options :

1. Median

2. Mode

3. Dispersion

4. Mean

Question Number : 36 Question Id : 5400733836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e ughy 1 Qe e ITERT faT S aTe J7g 31 82
Options :

1. HfyehT

2. 118

3. %ag

4. 99

Question Number : 37 Question Id : 5400733837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of using diagrams, maps, and graphs in research?
Options :

1. To complicate findings.

2. To visually represent data and enhance understanding.

3. To ignore data.

4. To hide information.

Question Number : 37 Question Id : 5400733837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IR H SR, AT SR U BT ITUN X P 577 1 67
Options :

1. frsmst & Sifed s

2. 3T B T ¥ Y UK BT 3R 0 B qgHT|

3. ST BT ST HAT

4. SHSRY fuH|

Question Number : 38 Question Id : 5400733838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What should be included in a standard research report?
Options :

1. Conclusions only

2. Introduction only

3. References, footnotes, abstract, bibliography

4. Data analysis only

Question Number : 38 Question Id : 5400733838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0
TS A ity Ruie & o1 =it fosan S arfgee
Options :
1. Had Ay
2. Had uR=d
3. HaH, Bedle, IR, TU &
4. ¢ fa=eyur dhad

Question Number : 39 Question Id : 5400733839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the first step in report writing?
Options :

1. Planning

2. Researching

3. Organizing

4. Writing

Question Number : 39 Question Id : 5400733839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fUIe e & Ugel ded |82
Options :

1. IS §9HT

2. MY BT

3. AR B

4. G

Question Number : 40 Question Id : 5400733840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical method is used to determine the strength and direction of the relationship between two variables?
Options :

1. Chi-square test

2. ANOVA

3. Correlation

4. Regression

Question Number : 40 Question Id : 5400733840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AR & 9 ey D1 Ao SR = Fufd w1 3 o fovw wifersta usfcr o1 SudiT b S g2
Options :

1. I-THRR Gheor

2. T

3. qgHey

4, g

Question Number : 41 Question Id : 5400733841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What distinguishes pure research from applied research?
Options :
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1. Pure research seeks to expand knowledge, while applied research aims to solve practical problems.
2. Applied research seeks to expand knowledge, while pure research aims to solve practical problems.
3. Both are the same.

4. Neither aims to solve practical problems.

Question Number : 41 Question Id : 5400733841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

S T B ATIGIRS STHUT Y T 3T HRell 82

Options :

1. Y& SHTHYUM 1 BT [IR FT1 641 &, T GBI T BT Ie. ATIGIND GHRITS Bl 0 PIAT 5
2. SV ST BT 38T T BT faIR BT 8, T Yk SHUT BT I ATIGING THRATSH B! § BT ¢ |
3. GHI g JBL.

4. fr el &1 IeRT TGRS GRS P g HAT T8 6.

Question Number : 42 Question Id : 5400733842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which theory of social research focuses on understanding social phenomena from the perspective of those involved?
Options :

1. Positivism

2. Functionalism

3. Constructivism

4. Structuralism

Question Number : 42 Question Id : 5400733842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IS ST BT D 1 Rigid 38 Ha AN & eBH101 S JrTore gersi o THgm R Hivd 32
Options :

1. Ug&diq

2. BEAIHDAG

3. XHAldIq

4. GIAATG

Question Number : 43 Question Id : 5400733843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of operational definitions in social research?

Options :

1. To ignore variables.

2. To define variables in terms of how they will be measured or manipulated.
3. To make random assumptions.

4. To generalize findings.

Question Number : 43 Question Id : 5400733843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T S o ulera alRyTersif &1 35xa 1 82

Options :

1. IR BT SGE HAT

2. TR B 59 Yo 7 uRyId 31 6 I 2 ATaT a1 3R fobam Saem |
3. el YRUMY S|
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4. et o) IR I

Question Number : 44 Question Id : 5400733844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In what ways does social work research contribute to society in India?
Options :

1. By addressing social issues and informing policy-making.

2. By ignoring societal problems.

3. By conducting experiments only.

4. By focusing on individual cases only.

Question Number : 44 Question Id : 5400733844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YR T IrTiors BT ST f5d ave I FamSt & GiTeH a1 82
Options :

1. TP Tel Bl Hafid P TR ifd-Fafo 3 gfed o3 |
2. TSI FHETST Bl ToR 3G PP |

3. Had YN b1 HTe b |

4. I eI HIHE! TR S bigd B |

Question Number : 45 Question Id : 5400733845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What distinguishes case study methods from other research methods?
Options :

1. They generalize findings across various cases.

2. They require less time and resources.

3. They cannot be used for qualitative analysis.

4. They provide in-depth understanding of a particular case.

Question Number : 45 Question Id : 5400733845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

$ g fafdra oY o T fafdral & o e FHrar 82
Options :

1. 3 faftr ama 7 fresf o) wmfied #Ra g

2. 3 BH gAY 3R GTeT BT AT bl gl 8|

3. 3% UM fa=awor & fore Iuah 78t fosan S g 3|
4.3 foreht foly Al 31 e I TaH IR &

Question Number : 46 Question Id : 5400733846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of experimental method?
Options :

1. Field experiment

2. Case study

3. Laboratory experiment

4. Quasi-experiment
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Question Number : 46 Question Id : 5400733846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Fofiied & 9 S 91 e [ 31 U@ UoR 61 62
Options :
1. &3 T
2. Y G
3. TITRITeT YT
4. 3TN

Question Number : 47 Question Id : 5400733847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Content analysis method is used for:
Options :

1. Analyzing historical data

2. Analyzing quantitative data

3. Analyzing qualitative data

4. Analyzing experimental data

Question Number : 47 Question Id : 5400733847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TR =i fafer &1 T fora o &:
Options :

1. Ui Sl o1 fa—eyor

2. AT ST B fa=eiyur

3. UMD Sl BT fa=awor

4. IS ST T fazetyor

Question Number : 48 Question Id : 5400733848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What are the sources of data in research?
Options :

1. Survey and interview

2. Experimental and non-experimental

3. Primary and secondary

4. Qualitative and quantitative

Question Number : 48 Question Id : 5400733848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
MYy § ST P Hid 1 52

Options :

1. AT 3R &P R

2. TR SR R-TATES

3. Ui SR WAt

4. TS 3R AHTHSG

Question Number : 49 Question Id : 5400733849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Sampling in research refers to:

Options :

1. Collecting data from a small portion of the population
2. Collecting data from the entire population

3. Conducting experiments in a controlled environment
4. None of the above

Question Number : 49 Question Id : 5400733849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STHYT B TSRO BT I &:

Options :

1. ST & T Bic U i U ST Tdl oAl
2. Tyl SFREReT § ST U Rl

3. A ardTeRr § v S

4. IR H Y DIS ol

Question Number : 50 Question Id : 5400733850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method of data collection involves direct observation of phenomena?
Options :

1. Interview

2. Questionnaire

3. Survey

4. Observation

Question Number : 50 Question Id : 5400733850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST 4 @i fhw faft & gersit &1 Ueer s/ it 82
Options :

1. HI§Th R

2. gyt

3. gd&fur

4. ST

Economics
Section Id : 54007378
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 54007378
Question Shuffling Allowed : Yes
Is Section Default? : null
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Question Number : 51 Question Id : 5400733851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Which of the following is generally called as Aggregate monetary measure of money supply?
Options :
1. M4
2. M1
3. M2
4. M3

Question Number : 51 Question Id : 5400733851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e B 9 P SR W g1 MYl 1 Teha Hifee WY Hel Sl 82
Options :

1. M4

2. M1

3. M2

4.M3

Question Number : 52 Question Id : 5400733852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following economists considered the rate of interest to influence the
transaction demand for money ?

Options :

1. P. Samuelson
2. W. J. Baumol
3. Keynes

4. 1. Fisher

Question Number : 52 Question Id : 5400733852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafafad o 9 fore srf=imelt = ga1 8g AF &7 &1 AN &1 THTIId $HR- & foT ST & 1 HROT AT 82

Options :

1. Ot Jquae
2. SRS S
3. B

4. 318 fhRR

Question Number : 53 Question Id : 5400733853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following banking related committees in ascending order
i) Narshiman committee

ii)urjit patel Committee

i13)3. P. Nayak Committee

iv) Raghuram Rajan Committee

Options :

1.1, iii, ii, iv

2.1, 1i, iii, 1v

4. 1v, iii, ii, 1
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Question Number : 53 Question Id : 5400733853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

o dfder gaeflr gfAfaar = 3RS 7 & cgateag #1 -

i.  TfaFER @Al

i. 3T o wfafe
i. = 9. s @
iv. A TS wiAfa

Options :
1.1, iii, ii, iv
2. i ii iii, iv

4. iv, 1ii, ii, i

Question Number : 54 Question Id : 5400733854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the context of the Indian economy, which of the following options correctly describe the composition of the foreign exchange
resources?

Options :

1. Foreign currency + loans from the World Bank + SDRs + Gold holdings of R.B.I.
2. Foreign Currency Assets + Gold holdings of R.B.I. + F.D.I.

3. SDRs + Gold holdings of the R.B.I. + Foreign Currency Assets

4. Remittances of NRIs + Exports earnings in a year + loans from the IMF.

Question Number : 54 Question Id : 5400733854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YR srferawi & dey & fuiferd § I & a1 fawey fagzl gar HeR & IamT & et SRe ddl 82
Options :

1. fac=h gar + fay d% QB0+ vy B R + YR Roid §o 31 ol enfear

2. fad=ft qa1 enfemt + U ford § ot Taof enfvar + fad=h veaer faw

3. T Y 3R + URA Rord o &1 Tl anfear + fag=h gar st

4. TR HRAT gRT OwUT -+ fobeht 9uf H Fafd ofel + SIaRTSIa Yol &1y A 3Bl

Question Number : 55 Question Id : 5400733855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which of the following step shall not be undertaken by RBI during increasing Inflation-
Options :

1. Raising CRR

2. Increasing Repo rate

3. Decreasing SLR rate

4. None of the above

Question Number : 55 Question Id : 5400733855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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9d §3 ERWIfd & TG B 1 1 YR Rord s 3 gRT e} far s
Options :

1. CRR H FgIast
2. Repo &R H Fglast
3. SLR H SH &A1

4. 3TH Y B TRl

Question Number : 56 Question Id : 5400733856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the Harrod’s model of growth, which among the following production functions best matches with the assumptions of the model?
Options :

1. Leontief production function

2. Homogeneous production function

3. C.E.S. production function

4. Well-behaved production function

Question Number : 56 Question Id : 5400733856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hafs & eis Aisa & Muiferd § @ 319 IadTed Bo Alsd &1 Tradmedl & Haiid ey 2
Options :

1. A3 IdTe Wed

2. U JdTe Ba

3. 9 S O SdIeA Had

4. GHTRIOIT IdTGA B

Question Number : 57 Question Id : 5400733857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Leibenstein in his critical minimum effort thesis treats population as a factor that is
Options :

1. investment — inducing

2. income — generating

3. market — expanding

4. income — depressing

Question Number : 57 Question Id : 5400733857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
o=t ora wifae <gmaw var Rigid § SR &l ®1F 91 RS A 82
Options :

IMEERITET

2. 3 gD
3. 9OIR faWdR®

4. 31T Heh

Question Number : 58 Question Id : 5400733858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following economists was not associated with the Dependency Theory of Development?
Options :

1. Raul Prebisch

about:blank 23/42



4/2/24, 2:55 PM about:blank
2. T.D. Santos
3. Andre Gunder Frank
4. Gunnar Myrdal

Question Number : 58 Question Id : 5400733858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FofIed & 4 oH ¥ s faem o Rkar Rigid 9 defta 98 9782
Options :

1. 3 Ufe=

2. fe 3t wid

3. 3 TR Hrp

4. AR gl

Question Number : 59 Question Id : 5400733859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which among the following statements are true for schumpeter’s theory of economic development?
i) Development is evolutionary

i1) Development is financed by real savings

ii11) Ccapitalism keeps its character intact overtime

of the above which statement(s) is/are true? answer from the code below:

Options :

1.Only I
2.O0nlyTand IT

3. All the above

4. None of the above

Question Number : 59 Question Id : 5400733859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

i & ww figuia & dest # rafaiad el ) «ae §

i. fwra seeraardy gar @

i,  faeE w1 R aiftas aug g gar @

iii. Ooftag FEATRIT UAT TEET JAEST T&T 8

39ged # ¥ i @8 F99 T 322 A O g @ 39w a4

Options :

1. $ad i

2. ad i duTii

3. Jugad et

4. 3ugad B A I T

Question Number : 60 Question Id : 5400733860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

In the Harrod-Domar equation g = s/v, where v is defined as:
Options :

1. The value of country’s capital stock
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2. Incremental capital output ratio
3. The change in country’s capital stock
4. None of the above

Question Number : 60 Question Id : 5400733860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
%ﬁg-wmﬂmg= s/vﬁvquﬁlﬂﬁ?f%?
Options :

1. 3% & Yol Wi &1 g

2. gis=ie doht frid srgura

3. 3R % Yol T | gRad=

4. 3ugad H A I T

Question Number : 61 Question Id : 5400733861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which is called Gossen’s second law?
Options :

1. Law of Equi-marginal Utility

2. Law of Diminishing Marginal Utility
3. Revealed Preference Theory

4. Indifference Curve Approach

Question Number : 61 Question Id : 5400733861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TR o1 fgta Fad ford a1 ST g2
Options :

1. qH A ST &1 ad

2. R W IUAIRTar &l Faq
3. ysphfed MM Rigid

4. AT g% AFTH

Question Number : 62 Question Id : 5400733862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the conditions support long run equilibrium in monopolistic competition?
Options :

1.MR=MC, AR =AC

2.P=MC,AR=AC

3. MR=MC=AR=AC

4. AR=MC=AC

Question Number : 62 Question Id : 5400733862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR areh gfawsf & Faifed & ¥ o1 F wrd Seierei I & gada st 82
Options :

1.MR =MC, AR =AC

2.P=MC, AR =AC

3.MR=MC=AR=AC

4. AR=MC=AC
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Question Number : 63 Question Id : 5400733863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the following statements regarding the Edgeworth Duopoly model:
It takes as given output decision of rival.

It takes as given price decision of rival.

It is an explanation of price rigidity.

Of these, the correct answer is:

Options :

1. Only Statement I is true.
2. Both I & II are true.

3. Both II & III are true.

4. Only II1 is true.

Question Number : 63 Question Id : 5400733863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Ty A Aisel & Ty H fAeifhd U W En w
|,  SEH gfaETeT & 3cure v &I = AEr ar g
. sa# vfaerdf & goa Aot &t Rar am=r AT S @
ll. IE HeT FoRAT HT & ¢

Options :

1. $dd | HYT TG 8
2. 13R 13 981 §
3. 11 3R 11 3T 98t §
4. PN TS §

Question Number : 64 Question Id : 5400733864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the following what do not causes market failure?
1. Externality
2. Asymmetry of information
3. Perfect competition

Choose the correct answer from the code given below:

Options :

1. 1,2 & 3 are correct.
2. Only 3 is correct.
3.1, & 2 are correct.
4.2 & 3 are correct.
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Question Number : 64 Question Id : 5400733864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Faifhg & FiF TR AHear T HROT 747 &2

1. STEg
2. HIT H IHEAAIT
3. qut gfaequr

Options :

1.1,2 3R 3 T8 g
2. $ad 3 TS
3.1 3R 3TEE
4.%9d 1 981§

Question Number : 65 Question Id : 5400733865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following said, “Inflation is everywhere and always a monetary phenomenon’?
Options :

1. James Tobin

2. John M. Keynes

3. Milton Friedman

4. Anna J. Schwartz

Question Number : 65 Question Id : 5400733865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFrafarad & 4 feaa a1 Ul b “HarRpifa 83 o118 Bich & STk 3 gH 8 U Hifsd v 872
Options :

1. oI e

2. S TH B

3. firee s

4. 3T S TSl

Question Number : 66 Question Id : 5400733866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match List | and List |l and select the correct answer from the codes given

below
List | List Il
a. Liquidity trap 1. Milton Friedman
b. Demonstration Effect 2. A.C. Pigou
c. Permanent Income Hypothesis 3. J. Duesenberry
d. Wealth Effect 4. J. M. Keynes
Options :

l.a.4,b.3,c.1,d.2
2.a.1,b.2,¢c.4,d. 3
3.a.4,b.2,c.1,d.3
4.a.1,b.3,c.4,d.2

Question Number : 66 Question Id : 5400733866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

= | 3R g 1w gRfos Y TE AR e aw get F & w5 3 g

il il

a. addr AT 1. Peea wisaa
b. vgelT wag 2. wdr iy

c. T T gRheusr | 3. S FHSASNT
d. §F9er AT 4. & vH H=g

Options :

l.a.4,b.3,c.1,d.2
2.a.1,b.2,¢c.4,d. 3
3.a.4,b.2,c.1,d.3
4.a.1,b.3,c.4,d.2

Question Number : 67 Question Id : 5400733867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Trickle down” strategy implies

Options :

1. growing GNP taking care of poverty

2. reduction in the income of the upper class by deliberate redistribution

3. direct achievement of better nourishment, health, education, etc. instead of growth of GNP first.
4. to target a particular sector of economy for betterment
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Question Number : 67 Question Id : 5400733867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fewra eI TrHifd ar |t 8

Options :

1. 9¢d U Yol AP ITE & gRT Fear Faror

2. GfaaTid gAfdaRur & A1y 9 3= O &1 3T ge T

3. Fhd AP IATG H i B b VUM R a5k UINUl, W, R i & wegal Iuefsd gk b
4. fTaRT & ORI &7 P! gary gq aeifhd BT

Question Number : 68 Question Id : 5400733868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

who among the following has developed the concept of effective incidence of tax?
Options :

1. H Dalton

2. J R Hicks

3. R. A. Musgrave

4. Ursula K. Hicks

Question Number : 68 Question Id : 5400733868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fofeiad 7 9 feam yHTE U & R &) fasfd fear g

Options :
1. Ud STecH
2.9 3R fo

3. AR UGHUT
4. I P Rew

Question Number : 69 Question Id : 5400733869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tobin Tax is a tax on:

Options :

1. Transactions in the Money market

2. Transactions in the Share Market

3. International Flow of Short Term Capital

4. Domestic Transactions in commodity Market

Question Number : 69 Question Id : 5400733869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
AT R FE AT RIRE
Options :

1. g1 STOIR H e

2. gfayfa SR & T

3. 3BT Yol BT SIRTPTI YaTg
4. 9K STOIR H 9 AT

Question Number : 70 Question Id : 5400733870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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what is the fiscal deficit target to be achieved for year 2023-24 as set by the budget 2023?
Options :

1. 0.064

2.0.039

3.0.059

4.0.057

Question Number : 70 Question Id : 5400733870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FoIC 2023 RT T 2023-24 F FoTT YRA B IS °1e &1 a1 FAeid & Tt g2
Options :

1. 0.064

2.0.039

3.0.059

4.0.057

Question Number : 71 Question Id : 5400733871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who advocated the law of increasing public expenditure?
Options :

1. A. Wagner

2. Adam Smith

3. Dalton

4. Karl Marx

Question Number : 71 Question Id : 5400733871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

dgd gU UTdui-a o9g &1 o farae ufdonfea fasar ur
Options :

1.0 R

2. TeH Y

3. Td Slecd

4. FTdt AT

Question Number : 72 Question Id : 5400733872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If public expenditure and taxes are increased by the same amount i.e. AG = AT.- then the level of National Income will:
Options :

1. Remain unchanged

2. Increase

3. Decrease

4. None of the above

Question Number : 72 Question Id : 5400733872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
gfe Adeieh 00 Td BRI § GHM gl B1 Il © ST AG = AT, T A1 31T BT WR:
Options :

1. 3rafeafda zgmm
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2. 9T
3.9

4. 3Ugad H q PIs Tet

Question Number : 73 Question Id : 5400733873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If demand for a commodity is perfectly elastic, then the incidence of a commodity tax will be borne
Options :

1. Fully by sellers

2. Fully by buyers

3. By both sellers and buyers

4. None of these

Question Number : 73 Question Id : 5400733873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IS U a¥g $1 AN QUIa: AaER 81 a9 g TR &R HI YR I a1 ST
Options :

1. quta: faomarsii gy

2. gud: STl gRT

3. I % Td fasharaii gRT

4. I0gdd A QA BI5 Tal

Question Number : 74 Question Id : 5400733874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Good Tax Structure includes:

Options :

1. Provision of adequate revenue yield

2. Provision of equitable distributionof tax burden

3. Provision of adequate revenue yield and Provision of equitable distributionof tax burden
4. None of these

Question Number : 74 Question Id : 5400733874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3B HR I H Giiferd gar g

Options :

1. ggTed 3T UIftqdl 1 wrae

2. IR YR & GHUIIS [GaRor &1 U™

3. T STH WG &1 UG a1 R HR & GHUTS (9ol &1 Jraem

4. 3ugad B A I T

Question Number : 75 Question Id : 5400733875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

To which of the following, does the liquidity trap correspond?
Options :

1. Consumption Function

2. Production Function

3. Money demand Function

4. Labour Demand Function
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Question Number : 75 Question Id : 5400733875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR ST Fafed # 9§ foras Jeifid g2
Options :

1. SUHNT BT

2. 3dTad e

3. Y AT B

4. Y HIT B

Question Number : 76 Question Id : 5400733876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Portfolio theory of the demand for money assumes that the individual-
Options :

1. Disregards Risk

2. is risk neutral

3. is risk Lover

4. is risk averse

Question Number : 76 Question Id : 5400733876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TSI &1 | BT G wITeral RigT |l & o afaa-
Options :

1. SR Bt SUET Bl §

2. S deR @

3. S Ot B

4. e fareht §

Question Number : 77 Question Id : 5400733877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

All of the following curves are U-shaped except-
Options :

1. The AVC Curve

2. The AFC curve

3. The AC curve

4. The MC Curve

Question Number : 77 Question Id : 5400733877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fFaffed v 9 U SR & § Riam
Options :

1. AVC déh

2. AFC déh

3.ACdsh

4. MC d&h

Question Number : 78 Question Id : 5400733878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The backward-bending supply curve for labour exists
Options :

1. Only in inflationary conditions

2. Wherever income effect overcomes substitution effect
3. Only in labour intensive industry

4. Only in a high-cost industry

Question Number : 78 Question Id : 5400733878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
3 & oY U1 &1 SR 1 Tl MTYf ash HIGG o-
Options :

1. $ad GErepifa o fufa

2. St o} 31T YHTT UFRRITY UHTd WR 81 &) &Il &
3. $H9d YH TUT AT A

4. $ad I AT aTal ST H

Question Number : 79 Question Id : 5400733879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Income inequalities in a country can be measured by-
Options :

1. Lorenz curve

2. Gini Coefficient

3. Proportion of income received by different size groups
4. All of these

Question Number : 79 Question Id : 5400733879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fordlt <=1 & 31T SIS B HIAT S 9hal 5-
Options :

IRNIEGKED

2. it TquTis
3. fafret SMTHR HE! GRT UK 319 T 3JuTd
4. QWY gt

Question Number : 80 Question Id : 5400733880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
According to the modern theory, rent arises on-
Options :

1. Labour Only

2. Land Only

3. Capital Only

4. All factors

Question Number : 80 Question Id : 5400733880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Y RIga & AR T I Bidl 8-

Options :
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1. pad 54
2. %ad Y
3. had goil
4. T HRS

Question Number : 81 Question Id : 5400733881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which of the following prevents national income from falling to zero when gross investment falls to zero-
Options :

1. Consumption

2. Multiplier

3. Accelerator

4. None of these

Question Number : 81 Question Id : 5400733881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T AR R B T IR Fafiid § 9 4 191 o &) I g 3 A 7-
Options :

1. JUHRT

2. 0T
3. RSP

4. 3ugad H A IS T

Question Number : 82 Question Id : 5400733882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is a transfer Income?
Options :

1. Salary of a MP

2. Company dividends to share holders

3. Rent from House Property

4. Unemployment allowance

Question Number : 82 Question Id : 5400733882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fofiied & 9 S T RIFR 31 32
Options :

1. U FiEa o1 dd-

2. U AR YR BY AU I B

3. 778 Hufq 9 fa—ran

4. SRISATRY Hl

Question Number : 83 Question Id : 5400733883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which authority finally approves the minimum support price (MSP) paid to farmers in India?
Options :

1. RBI

2. Cabinet committee on economic affairs

3. CACP
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4. Ministry of agriculture

Question Number : 83 Question Id : 5400733883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YR H forart & fad S are <graw qadH ged for et & gr1 fuiia far smar g2
Options :

1. 3RS 3.

2. 3ife AT 1 piare wfifd

3. @

4. DY HATTT

Question Number : 84 Question Id : 5400733884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
NABARD was established in —
Options :

1. Fourth Plan

2. Fifth Plan

3. Sixth Plan

4. Eighth Plan

Question Number : 84 Question Id : 5400733884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST &1 RITGT {5 Uy aeffar dier1 & Sicia g3 ote
Options :

1. aqd Ao

2. Uterdt et

3. B3l Al

4. 313! AT

Question Number : 85 Question Id : 5400733885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is not Correct with regards to monetary policy committee (MPC)?
Options :

1. It is a six-member body headed by the union finance minister.

2. The committee took decision on the basis of voting

3. Committee has repo operations under its purview

4. None of these

Question Number : 85 Question Id : 5400733885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hifoe -Hfa afafe @) & dey o Fafarad § 9 o 9 oy 98 T8 72
Options :

1. 98 P fad v &1 sreaerdr areft 3% Yewi gR gl

2. I A FaEH & SyR W Fofg forar)

3. 9fAfd 3 R § Y01 oREraH 7

4. 3Ugad H A I Tt
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Question Number : 86 Question Id : 5400733886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
National income in India is estimated by-
Options :
1. NITI Aayog
2. Finance Commission
3. Central statistical Organisation
4. Reserve bank of India

Question Number : 86 Question Id : 5400733886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
YRA H P 341 B! VAT BY STl 6-
Options :

1. T ST

2. far emamm

3. HAIg FiRkTd! W6
4. YR feerd s

Question Number : 87 Question Id : 5400733887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who has advocated the concept of PURA (Providing Urban Amenities in Rural Areas) for our country?
Options :

1. A.PJ. Abdul Kalam

2. Manmohan Singh

3. Charan Singh

4. None of the above

Question Number : 87 Question Id : 5400733887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. U S, 3fsgd HaH

2. 7R Rig

3. RO R

4. IUGF B I DIS ol

Question Number : 88 Question Id : 5400733888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Geometric mean of Laspeyre’s and Paasche’s indices provides :
Options :

1. Marshall-Edgeworth Index

2. Bowley’s Index

3. Fisher’s Index

4. Kelley’s Index

Question Number : 88 Question Id : 5400733888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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AR 3R UTR & GABIh| BT ST HIed YT HRll 8-
Options :

1. Arefd-uead 8o

2. 93 So

3. R Es

4. Felt S99

Question Number : 89 Question Id : 5400733889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following denotes the power of the Test? [a is probability of Type I error and B is probability of Type II error]
Options :

l.a
2.B
3.1-a
4.1-p

Question Number : 89 Question Id : 5400733889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

l.a

2.8
1

3.1-a
4.1-pB

Question Number : 90 Question Id : 5400733890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For testing the significance of overall regression the test to be used is
Options :

1. t Test

2. F Test

3. %2 Test

4. d Test

Question Number : 90 Question Id : 5400733890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T TR & Hed BT URI&0 A & 7T TN fordm S aretm uieor §
Options :

1.éew

2. TH e

3.X2

4.3

Question Number : 91 Question Id : 5400733891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In the context of the ‘twin balance sheet problem’ in India, consider the following statements
a) over leveraged corporate debt

b) High Non-Performance Assets of nationalised banks

c) High fiscal deficit

select the correct answer from the codes given below:

Options :

1. (a) and (c)

2. (a) and (b)

3. (b) and (c)

4. (a), (b) and (¢)

Question Number : 91 Question Id : 5400733891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
l.aGﬁTc
2.2 3R b
3.b3Rec
4.a,b3ﬁTc

Question Number : 92 Question Id : 5400733892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per census 2011, rank the following states in descending order of degree of wrbanisation.
(a) Tamil Nadu (b) Maharashtra (c) Goa (d) Punjab
select the correct answer from the codes given below:

Options :

1. (b), (a), (d), (¢)
2.(c), (a), (b), (d)
3.(a), (), (d), (b)
4.(d), (b), (a), (¢)

Question Number : 92 Question Id : 5400733892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1.b,a,d, c
2.¢c,a,b,d
3.a,c,d, b
4.d,b,a,c

Question Number : 93 Question Id : 5400733893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the producer pays the price for each of the inputs that is used is equal to its value of Marginal product, then which one of the following
does he earn?

Options :

1. Zero supernormal profit

2. Monopoly profit

3. Positive supernormal profit
4. Negative supernormal profit

Question Number : 93 Question Id : 5400733893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. I SUTATaR Y

2. THMYPR Y

3. YATHSD T T

4. BUTAS 3 TGH ATH

Question Number : 94 Question Id : 5400733894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In 2022 the noble prize for economics has been awarded to-
Options :

1. Abhijit Banerjee

2. paul samuelson

3. Douglas Diamond

4. David card

Question Number : 94 Question Id : 5400733894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

22 a9 & oY SRR & Aled REBR fhd UTed gam?

Options :

1. AR soif
2. Ui YU
3. ST SHS
4. AT FTS

Question Number : 95 Question Id : 5400733895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Indicate the sequence of the following in terms of their implementation with
reference to India:
a. income tax
b. Expenditure Tax
c. Value-Added Tax at State Level
d. Service Tax
Choose the correct answer from the code given below:
Options :
L. (a), (¢), (b), (d)
2. (a), (b), (d), (¢)

3.(b), (), (d), (2)
4. (), (), (a), (b)

Question Number : 95 Question Id : 5400733895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A fgT 1T FIE ¥ W I oA

Options :

l.a,c,b,d,
2.a,b,d,c,
3.b,c,d,a,
4.¢,d,a,b,
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Question Number : 96 Question Id : 5400733896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
If export price increases by 5 percent and import price by 20 percent, the commodity terms of trade is:
Options :
1.0.91
2.0.87
3.0.25
4.4

Question Number : 96 Question Id : 5400733896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gfe frafa Sd 5% I 96 T Smard Siaal § 20% g 81 9 9% SR o0d gift-
Options :

1.091

2.0.87

3.0.25

4.4

Question Number : 97 Question Id : 5400733897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not part of the W.T.O. Agreement On Agriculture (AOA)?
Options :

1. Input subsidies

2. Export subsidies

3. Domestic support

4. Market Access

Question Number : 97 Question Id : 5400733897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
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Options :

1. $1YC Gieq St

2. fyafa afest

3. IR g9

4. SR STRTRIAT

Question Number : 98 Question Id : 5400733898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Core inflation has been described as:

Options :

1. Headline inflation—food inflation

2. Headline inflation—(food inflation+fuel inflation)
3. Headline inflation—fuel inflation

4. Food inflationtFuel inflation

Question Number : 98 Question Id : 5400733898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
1. SR ERWITd — W arRwbifd
2. TS AP - (BT GRRWIf + $e GRrpifan)
3. SATS IR ITd - SY RN
4. T GEWDITT + S8 GERpid

Question Number : 99 Question Id : 5400733899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assuming an agricultural growth rate of 4% per annum in India, what will be its contribution to the country’s GDP growth rate with a
20% contribution of the agricultural sector to GDP?

Options :
1.0.08
2.0.05
3.0.02
4.0.008

Question Number : 99 Question Id : 5400733899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1.0.08

2.0.05

3.0.02

4.0.008

Question Number : 100 Question Id : 5400733900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Which organisation in India has been given the responsibility to monitor the progress of sustainable development goals?
Options :

1. Reserve Bank of India

2. Central Statistical Office

3. NITI Aayog

4. National Sample Survey office

Question Number : 100 Question Id : 5400733900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. YR<ira Rord o

2. e Hifeme! ity

3. ifd SmamT

4. 18T wfdaet wder
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